Ignore the question numbers

Limit and Continuity
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Limit and Continuity

dx 43, x22

. find whether the function f'1s continuous at x=2.
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{c) Determine whether f(x) 15 continuous at x =2, where
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(e) Determine the values ofk so that the function
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(b) Test the contimuity of the function f(x) at x=1, where
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Determine the pomts of discontinuty, if any, of the followng functions :
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Solution for finding points of discontinuity

Find the point of discontinuity for the following function:

3 — 4x? — 52

P = 5 or 720

Explanation:
Start by factoring the numerator and denominator of the function.
z? — 4z — 5z  z(x’ —4z-5) z(x-5)(z+1) z(z+1)
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A point of discontinuity occurs when a number a is both a zero of the numerator and denominator.

Since T = 5 is a zero for both the numerator and denominator, there is a point of discontinuity there. To find the ¥ value, plugin 5 into the
final simplified equation.
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(5, 30) is the point of discontinuity.

Find a point of discontinuity in the following function:
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f(z) =

Explanation:
Start by factoring the numerator and denominator of the function.
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f(z) =

A point of discontinuity occurs when a number @ is both a zero of the numerator and denominator.

Since & = —4 is azero for both the numerator and denominator, there is a point of discontinuity there. To find the y value, plugin —4 into
the final simplified equation.
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—4, E is the point of discontinuity.



